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General Instructions 

• Reading time – 10 minutes 

• Working time – 2 hours and 
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• Write using black or blue pen 
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Section II 

Section III 

Pages 2–5 

25 marks 

• Attempt Questions 1– 8 

• This section should take approximately 30 minutes 

Pages 9–15 

40 marks 

This section has two parts, Part A and Part B 

• Allow about 1 hour and 20 minutes for this section 

Part A – 25 marks 

• Attempt Questions 9 –10 

Part B – 15 marks 

• Attempt Question 11 

Page 16 

15 marks 

• Attempt Questions 12–13 

• Allow about 1 hour for this section 
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Section I — Listening and Responding 

25 marks 
Attempt Questions 1– 8 
This section should take approximately 30 minutes 

You will hear EIGHT texts. Each text will be read twice. The question for each text will be 
read once before the first reading of the text. There will be a pause after the first reading in 
which you may make notes. However, you may make notes at any time. You will be given 
adequate time after the second reading to complete your answer. Answer the questions in 
ENGLISH in the spaces provided. In the case of multiple-choice questions, tick the box that 
corresponds to the correct response. You may proceed to Section II as soon as you have 
finished Question 8. 

In your answers you will be assessed on how well you demonstrate: 

■	 capacity to understand general and specific aspects of texts by identifying and 
analysing information 

■	 capacity to convey the information accurately and appropriately 

Marks 

2 

2 

Candidate’s 
Notes Question 1 (2 marks) 

What horoscope advice is given to people whose star sign is Leo? 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 

Question 2 (2 marks) 

Why did Mr Farid leave this message? 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 
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Marks 

2

1 

3
 

Candidate’s 
NotesQuestion 3 (3 marks) 

(a) Why does Mounir have a problem? 

.....................................................................................................


 .....................................................................................................


 .....................................................................................................


 .....................................................................................................
 

(b) Which picture best fits the description of Samia? 

(A) (B) 

(C) (D) 

Question 4 (3 marks)
 

Why does the customer end up buying the electronic game? 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
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Marks 

4 

5 

Candidate’s 
Notes Question 5 (4 marks) 

Was Shadi justified in breaking off his engagement with Yasmine? 
Support your answer with reference to the text. 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 

Question 6 (5 marks) 

What makes this speech so effective? 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 

............................................................................................................... 
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Marks 

1

5
 

Question 7 (1 mark) 

What is the main point that Kareem is trying to make? 

(A) Mona should not buy her new car. 

(B) Mona’s dad should not have bought the air-conditioner. 

(C) Global warming is an important issue with young people. 

(D) We should all be concerned about the environment. 

Question 8 (5 marks) 

Describe the relationship between the grandfather and his 
granddaughter.
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

...............................................................................................................
 

Candidate’s 
Notes 
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You may now proceed to Section II 
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2008 HIGHER SCHOOL CERTIFICATE EXAMINATION 

Arabic Continuers 

Section II — Reading and Responding 
40 marks 
Allow about 1 hour and 20 minutes for this section 

Part A – 25 marks 
Attempt Questions 9 –10 

Read both texts, then answer the corresponding questions in ENGLISH in the Section II Part A 
Answer Booklet. 

In your answers you will be assessed on how well you demonstrate: 

■	 capacity to understand general and/or specific aspects of texts, through, for example, 
summarising or evaluating 

■	 capacity to convey the information accurately and appropriately 

Question 9 (9 marks) 

Please turn over 
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Question 9 (9 marks) 

WÓ�U¼  UOÒ �u ¹Ó sÚ �Ó Ï UHD²IÓ �Ô


≤∞∞∏Ø≤Ø±≥ 

WF Ð« Òd�« W Ó×H ]B�« vK ÓŽ Ó»U² J�« «u×Ó²�≈¢ ∫
Ô‰uIÓ¹ d Óš¬ 

ÎUL=K ÓF Ô� ÔXF L ÓÝ U� «– ≈ ÔÊuM Ô−�« wMÔÐU²ÚMÓO ÓÝ

 Æ¢v�Ë_« lÓÐ—
Ó_«  «dÓI ÓH�« «uB =�Ó� ÓË

 ¨włUŽ eÚ½U Ð Î«bŠÓ√ Ód ³š
Ô√ ÊÓ√ ]w
ÓK ÓŽ ÆlODÓ² ÚÝ

Ó√ öÓ� U½Ó√ U Ò�
Ó√ Æ Ìd ÞUš WÓ³OÞ s ÓŽ 

Óp �c Ð ÓÊu�uIÓ¹ w�U� — 

°… Óe¹e ÓF�« wð Ód
=J ÓH Ô� U¹ pOÓ� ≈ T −Ó²�

Ó√ «cN � ÓË 

≤∞∞∏Ø≥Øμ

 Æw�«— w ÒL ÓŽ sÐ ≈ œöO� bOŽ qH ÓŠ w� ¨ =w 
F �U−�« ÔV �U 

ÒD�« ¨w½«b Ð ÔXOÓIÓ²Ú� ≈ °
Î« Òb ł ÏW ÓJ ³Óðd Ô� U½√ 

Ôt]½Ó√ ÔXL K ÓŽ U� ÓbM Ž w² ÓJ× { ÔXOÓH Úš
Ó√ wM]M J� Æ t ½«e=ðS Ð ÔXÚ³ −Ž

Ô√ ÓË ÔoO½
Ó_« ÔÁ Ôd 
ÓEÚM Ó� Íd 

ÓEÓ½ ÓXÓHÓ� bÓIÓ� 

ÕË— ÓË t ¦¹œUŠ
Ó√ w� W]¹ =b −�« ÓsOÓÐ Ôl ÓL−Ó¹ ° ÏV¹d Óž Óu Ô¼ r

Ó� wN� ≈ U¹ Æ UÒO{U¹ =d�« W]O
=K Ô� w� Ô”Ô—bÓ¹ 

øÁUÒ¹ ≈ tODŽ
Ô√ q Ó¼ ÆwH ðU¼ Ór� Ó— wÒM � ÓV

ÓK ÓÞ bÓIÓ� Æ t ðUIOKFÓð w� WÓ²JM̂�« 

≤∞∞∏Ø≥Ø≤μ

 ÊÓ√ w½UJ Ú�S Ð Ôt]½
Ó√ ÔbIÓ²ŽÓ√ ÆÎUF z«— ÔfI 

]D�« ÓÊU� Æw½«œ Ól Ó� WF �U−�« w� —UN]M�« «c¼ ÔXO ÓC�
Ó√

 w� Ô‰uIÓ¹  w½«œ  Æ qOB×]²�« ÓË ”— ]b�«  w� 
ÏWÓ³¹d Óž 
ÏWÓ³ž Ó— ]Í Ób

Ó�  Æ W]OF �U−�« …UO Ó×�«  vK ÓŽ ÓœU²Ž
Ó√ 

Ì UŽUÝ ÀöÓŁ … ]b ÔL � 
ÎUF Ó�  UM  ÚÝÓ— Óœ  Æ  Âu−M̂�« Ó‚uÓ�  U�  v� ≈  ¨vKŽ

Ó_«  v� ≈ „ Ód 
ÓEÓ½  Íe =� Ó—  ∫

ÎUL z«œ 

ÆÎUþu×K Ó� 
ÎU�b̂ ÓIÓð Ô “ ÓdŠ

Ó√ ÓË 

Question 9 continues on page 11
 

– 10 – 



Question 9 (continued) 

≤∞∞∏Ø≥Ø≤∂ 

ÓiFÓÐ ÔXOÓIÓ²
Ú�« ÓË … ÓuNÓI�« ‰ ÔËUMÓ² � « Òd Ó�  … ]b Ž ”— ]b�«  s ÓŽ  UM ÚH ]� ÓuÓð  Æ W³Ó²J ÓL�«  v� ≈ ÓÂuÓO�«  U½b ÔŽ 

Ôr
Ó�«dÓ²Ó² ÓÝÓË Â ÓœUI�« Ÿu³Ý

Ô_« w� q ÓL ÓF�« Ós � ÔdO¦
ÓJ�« ]Í ÓbÓ� ÓÊuJÓO ÓÝ Ôt]½

Ó√ Ôb IÓ²ŽÓ√ ÆÆÆw½«œ ¡U� b�Ó√ 

Æ Ôt ÓF Ó� W
ÓKH Ó×�« —uC Ô× � w½«œ Ó… ÓuŽ Óœ ÔXO]³

Ó� Ê ≈ ]w
ÓK ÓŽ ÔW]OÝÓ—b ÓL�« Ô U³ ł«u�« 

≤∞∞∏ØμØ±∂

 wN� ≈ U¹ ° •∏≥ w² Ó�ö ÓŽ °p �– Ô‚ =b�
Ô√ ô ÆdOšÓ_«  UÒO{U¹ =d�« —U³ ²š ≈ ÓZ zU²Ó½ ÓÂuO�« ÔXL

ÓKÓ² ÚÝ ≈ 

Æ¡«u =A�« qH ÓŠ 
Ó‰ö š Î«b Óž ÔÁ Ôd ³š

Ô√ Ó·u ÓÝ °wÐ 
Î«—u�Ó� w½«œ ÔÊuJÓO ÓÝ r

Ó� 

Ós � ÓdO¦
ÓJ�« ÔlO{

Ô√ wM]½Ó√ Ós¹b IÓ²FÓð Úq Ó¼ øwð Ód
=J ÓH Ô� U¹ pÔ¹√ Ó— U� Æw½«œ Ól Ó� ÔÃ Ôdš

ÓQ ÓÝ Èdš
Ô√ Î… ]d Ó� 

øÔt ÓF Ó� X� Óu�« 

End of Question 9
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Question 10 (16 marks) 

Email ➀ 

New Reply Reply All Forward Send & Receive 

vKOÓ� ∫s � 

qO³Ó½ ∫v� ≈ 

dBÓ� v� ≈ w²
ÓK ÚŠ — ∫Ÿu{u ÓL�« 

¨qO³Ó½ wI¹b Ó� 

ÆÊü« ÌdO� Ð ÓÊuJÓð Ê
Ó√ v� ÓŽ ø ÓX×Ó³�

Ó√ ÓnO Ó�

 l DÓ² Ú�Óð r
Ó� T łUH ÔL�« Óp {Ód Ó� qCÓH Ð ÔYO ÓŠ Æ

ÏW ÓF �U½ Ì… ]—U{ 
ÔW]Ð Ô— ∫
Ôq zUI�« ÔqÓ¦ ÓL�« Ó‚ Ób Ó� ¨wI¹b Ó� U¹ 

Æw� Óq ÓB ÓŠ U� Ó‚ =bBÔð s
ÓK Ó� Æ ÓXK ÓF Ó� U� ÏdO Óš ÓË dBÓ� v� ≈ UM ÓF Ó� wðQÓð Ê

Ó√ 

W]¹ uÓO Ó× Ð  w²  ÓA Ú¼ Óœ  s  � ržd̂�U Ð ÓË  ¨ —UD ÓL�« ÷Ú—
Ó√  v� ≈  w�u�ÔË ÓbM Ž  w²  ÓŠ Úd Ó� ÓË  w²ÓHN

Ó�  s  � ržd̂�U ³ Ó�

 n ÔÝu¹ Ól Ó� ÔXK Óš Óœ  ULÓMOŠ  wNłÓË  w�  UO½b̂�« X ÓL
ÓKþÓ√ Úb Ó�  ¨ … Ód ¼UI�«  w� W]O KÚOK

]�« W Ó� Ód Ó×�« ÓË ÊUJ ÓL�«

 s ÔJÓ¹ Úr
Ó� °WÓ³OB ÔLK

Ó� U¹ ÓË Æw½ ÚbOÝ s Ó� U¼ e Ú− Ó× Ð UML Ô� w²
]�« ·d ÔG�« s ÓŽ Ód �

ÚHÓ² Ú�ÓM � Ó‚ ÔbÚM ÔH�« v� ≈ w½U�
Ó√ ÓË

 UNÓMOŠ Ô — d ÔD{≈ Æ ‚ ÔbM ÔH�« w� Ï… Ód žUý 
ÏW Ó� Úd Ôž 
Ó„UM Ô¼ s ÔJÓð Úr

Ó� UL Ó�  «“u− Ô×�« ÓsOÐ 
Î«œułu Ó� wL ÚÝ ≈ 

Ó“«u Ół  U�öF ² ÚÝ ù« Ón 
]þ Óu Ô� 
Ô‰ ËU½Ô√ ÔXÚ¾ ł U� ÓbM Ž ÚqÓÐ ¨jÓI Ó� «c¼ ÓfÚO

Ó� ÓË ÆUNÓ²�d Ôž w½U�
Ó√ Ód ÞUý

Ô√ ÊÓ√ 

ÔY Ó×ÚÐ
Ó√ Ÿ —U ÒA�« v� ≈ Î… Ó—uŽ

Úc Ó� ÔXłÓd Óš Æw½uM Ôł ]s Ô−Ó� wF Ó� ÚX Ó�O
Ó� w² ÓEÓH Ú× � ]Ê

Ó√ ÔXÚH ÓAÓ² Ú�« ¨ÍdÓH ÓÝ

 UNÓMOŠ Æ ÔÁ Úb ł
Ó√ Úr
Ó� wM]M J� ¨ t ð Ó—UÒO ÓÝ w� 

ÓW ÓEÓH× L�« ]q ÓFÓ� ‚ ÔbM ÔH�« v� ≈ UMK Ó�Ë
Ó√ Íc]�« … Ódł

Ô_« o zUÝ s ÓŽ 

Æ ŸUO ]C�U Ð ÔX� Ó� ÚŠ
Ó√ ÓË ÍdOJHÓð 

]q Ôý

 Æ Ÿu³Ý
Ô_« «c¼ W¹UN ½ w� ÓœuŽ

Ó√ ÊÓ√ ÔXL ]L Ó� wM]½
Ó√ Òô ≈ ¨ÓWKŠ =d�« 

Óq L�Ô√ ÊÓ√ w½U�Ó√ ÓË n ÔÝu¹ ]w
ÓK ÓŽ ]̀ Ó�
Ó√

 ÆÎ«dO¦ Ó� tOÓ� ≈ ÏW Ó�U²A Ô� wM]½ ≈ Æ T �« Òb�« w Ò�
Ô√ s ÚC ÔŠ v� ≈ qO³Ó½ U¹ ÔœuŽ

ÓQ ÓÝ

 ÆÎU³¹dÓ� Ó„«—Ó√ 

vKOÓ� 

Question 10 continues on page 13
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Question 10 (continued) 

Email ➁ 

New Reply Reply All Forward Send & Receive 

w½U�Ó√ ∫s � 

qO³Ó½ ∫v� ≈ 

dBÓ� v� ≈ w²
ÓKŠ— ∫Ÿu{u ÓL�« 

¨qO³Ó½ Íe¹e ÓŽ

 wI¹b Ó� U¹ Ï… Ób zUŽ wM]½ ≈ ¨o
ÓKIÓð ô ÆÎUF¹d ÓÝ ]w

Ó� ≈ ÓXÚIÓ² Úý« Óp]½
Ó√ Ëb³Ó¹ øbFÓÐ Â

Ó√ ÓXOÓ�UFÓð q Ó¼ ø Óp
Ô�UŠ ÓnO Ó� 

Ô‰u³ ÔI�« w½Ó¡Uł Úb ÓI Ó� ¨» dGÓ² Ú�Óð ô ¨r ÓFÓ½ÆÆÆŸu³Ý
Ô_« WÓ¹UN ½ w� vKO

Ó� Ól Ó� ÔœuŽ
Ó√ UL]Ð Ô— Æ ÌW Ó�dÔ� » Ód�√ w� 

Óq ÓL ÓF�« 
Ó√ ÓbÐ
Ó√ ÚÊÓ√ ÷ËdH ÓL�« Ós � ÓË  Æ

ÎW]O ŠUO Ý Î… Ób ýd Ô� q ÓL ÓFK �  w½ ÚbOÝ w� ÔtÔ²� ]b Ó�  Íc
]�« VK ]D�«  vK ÓŽ 

ÆÂ œUI�« ÓŸu³Ý
Ô_« 

ÎöN ÓÝ ÔÊuJÓO ÓÝ 
Óq ÓL ÓF�« ]Ê

ÓQ Ð ËbÚ³Ó¹ ÓË ÌdG Ô� UNÓ³ ð«— ÓË Ï… Ób=O Ół ÓW ÓHOþÓu�« ]s J� Á c¼ wð Ó“Uł ≈ Ól 
ÓDÚ�Ó√ ÚÊÓ√ wMÓ½ Óe ÚŠ

Ó√ 

° qÓ³IÓ²� ÔL�« w� U¼—UŁ¬ ‰UL Ó− Ð Ôl]² ÓLÓð
Ó√ ÓË ÔœuŽ
ÓQ Ó�Ó� dBÓ� U Ò�

Ó√ ÆÎ«bÐÓ√ Ód ]� ÓcÓð
Ó√ ÒôÓ√ ]w
ÓK ÓŽ Æ
ÎUF ² ÚL Ô� ÓË 

Æw½ ÚbOÝ w� ÎU³¹dÓ� Ó„«—Ó√ 

w½U�Ó√ 

Question 10 continues on page 14
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Question 10 (continued) 

Email ➂ 

New Reply Reply All Forward Send & Receive 

n ÔÝu¹ ∫s � 

qO³Ó½ ∫v� ≈ 

dBÓ� v� ≈ w²
ÓKŠ— ∫Ÿu{u ÓL�« 

¨qO³Ó½ Íe¹e ÓŽ

 ÆwðUO ÓŠ ÂUÒ¹
Ó√ Óq ÓL Ół
Ó√  wCÚ�Ó√  UM  Ô¼ wM]½ ≈  Æb �U��« qOÒM�« dNÓ½ ·UH { s � ÓpOÓ� ≈  UN

Ô¦ ÓFÐ
Ó√ Ï… Ód D ÓŽ 

ÏW]O ×Óð 

 U�«d¼Ó Úú K Ó�  Æ … Ód ŠU Ò��« W]O �¹—UÒ²�« —UŁü« ÓsOÓÐ 
Ô‰ ]u−Ó²Ó½  Êü«  UÒM

ÔJÓ�  ÷ÓdLÓð  r
Ó�  wI¹b Ó�  U¹ 

ÓpÓ²OÓ� 

ÔÊuJÓð U� Ô» Ód
Ú�Ó√ ÎWÓÐ d−Óð ÔgOFÓ² Ó� ¡«— Óu�« v� ≈ sOM =��« Ó·ô¬ 

Ó„ ÔbOFÔð ÏWÓ³O− ÓŽ 
ÏWÓ³ Ú¼ Ó— W]O ½uŽdÓH�« b ÐUF ÓL�« ÓË 

=sÓH�« W ÓL 
ÓE ÓF Ð Ó„ Ôd F ÚAÔ¹  v�«b ÔI�«  sOÒ¹ dBÓL�« W ÓN �ü« ÓË „uK ÔL�« qOŁULÓð ÓÂU�

Ó√ Ô·u� Ôu�« ÓË  Æ  ‰UO Ó��«  v� ≈ 

Ì‰«R ÔÝ Ón�
Ó√ Óp M¼ – w� ÔÕ Ód 

ÚDÓ² Ó� Ê«—b Ô−�« vK ÓŽ ÔÂuÝd̂�« ÓË Ô‘uIM̂�« U Ò�
Ó√ Æ ÊU� ]e�« Óp �– w� Í—ULF L�« 

Æ ÏŸ —UÐ Ìa¹—Uð Ôr
=K ÓF Ô� UN]½

ÓQ Ó� ¨ Ì‰«R ÔÝÓË 

ÔYÚO ÓŠ W]O NÓ³�« —«u½
Ó_U Ð 
Ô Ó_ Ú ÓúÓ²Óð UN ÔŽ —«u Óý ¨ ÓÂu]M�« Ô· dFÓð ô UNÔ½uO ÔŽ ¨ WÓ¹UGK � 

ÏW ÓA ¼b Ô� qO³Ó½ U¹ UM Ô¼ ÔÊ Ôb ÔL�« 

ÔW]¹ dBÓF�« Ôr ŽUD ÓL�« UM ÔN Ó� Æ ÂUF 
]D�« ÔW Ó× z«— 

Ó„ Ôœ —UDÔð wAÚLÓð ULÓMÚ¹
Ó√ Æ Ì·u Óš ÓÊËœ ÎöÚOÓ� ÔÕ« Òu ̂��« UNO� ÔÕ Ód�Ó¹

 Æ W]¹ uA ÓL�« … Ó—ĉ�« Ô UÐ Ód ÓŽ b̂Ó² ÚLÓð qOÒM�« Ÿ —«u Óý W ÓH �Ú—
Ó√ vK ÓŽ Ó„UM Ô¼ ÓË 

ÔW]O ³F ]A�« w¼UI ÓL�« UM Ô¼ ÓË

 w� ÔXO]M ÓLÓð Úr
Ó� °qO³Ó½ U¹ Á¬ Æ‰UO Ó��« ÓË WÓÐU² J�« w� ÌWÓ³ž Ód Ð Ôd ÔFAÓð 

ÓpÔK ÓF−Ó¹ ¨ Ï–U Òš
Ó√ ÓË Ïl¹bÓÐ UM Ô¼ Ì¡w Óý q̂

Ô� 

ÆÎU³ ðU� ÔXM Ô� uÓ� W ÓE×]K�« Á c¼ 

Æw½ ÚbOÝ w� „«—Ó√ 

n ÔÝu¹ 

End of Question 10
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Section II (continued) 

Part B – 15 marks 
Attempt Question 11 

Answer the question in a writing booklet. Extra writing booklets are available. 

In your answer you will be assessed on how well you demonstrate: 

■	 capacity to understand general and specific aspects of a text by identifying, analysing 
and responding to information 

■	 relevance of ideas, information or opinions 

■	 accuracy of vocabulary and sentence structures 

■	 variety of vocabulary and sentence structures 

Question 11 (15 marks) 

Read the following article and write a speech to your school community in which you present 
your opinion on the issues raised. 

Êu½UI�« ÓË 
Ô‰UHÞÓ_« 

Æ ]p ]A�« ÔqÓ³ ÚIÓ¹ ô ÓË yw N¹bÓÐ Ód Ú�
Ó_« «c¼ ]Ê ≈ Æ W]O K zUF�« …UO Ó×�« Ô— Óu× � r Ô¼ 

Ô‰UHÞÓ_«

 UNÓ½ ÚË ÓdÓ¹ w²
]�« W ÓI¹d ]D�U Ð r N �UH ÚÞÓ√ Ól Ó� q Ô�UF]²�« w� q Ú¼

Ó_« ]o ÓŠ U½ dB ÓŽ w� ÔsO½«uÓI�« ÓV K Ú�Óð ÚÊ
Ó√ Ús J� ÓË 

Æ =w
K zUF�« Ê “«u]²�« Ê«bI � v� ≈ Óp �– Í Òœ ÓRÔ¹ Ú– ≈ ¨ ‰u³I ÓL�« ôÓË qN ]��« d�

Ó_U Ð ÓfÚO
Ó� ¨ÎW Ó×O× Ó� 

 UŽU�  v� ≈  r  N ðUN ]�
Ô√ ÓË  r  N zUÐ ü ‰UHÞ

Ó_« =d Ół … Ód ¼Uþ ÔdO�HÓð  UMÔM JLÔ¹ ÓnÚO
Ó�  ¨  ‚UO =��«  «c¼  w�ÓË 

]b { ÔÂUIÔð Èu ÚŽ Ób Ð Ôl ÓL�Ó½ ÌW ÓN ł Ús L Ó� Æ W]¹ d ÓÝ
Ô_«  U�ö F�« w� ÎW]O FO³ ÓÞ Ëb³Óð Úb Ó� Ì—u�

Ô√ VÓ³ Ó� Ð r �U× ÓL�« 

Ús � ÓË Æ«c¼ ¢w½U�½ ù« ÓdO Óž¢ UN K ÓL ÓŽ VÓ³ Ó� Ð 
ÎUÒ¹ =œU� ÔÂ ]d ÓGÔð bÓ� ÓË Æ t ð ÓËUI ÓA� UNÓMÚÐ ≈ X ÓFÓH Ó� UN]½

Ó√ œ ]d Ó− ÔL � >Â
Ô√ 

Ôt]½Ó _ Î… Ób¹b Ół 
ÎWÓK zUŽ ÔtÓ� Ób −Óð w Ó� ÓW ÓL

ÓJ Ú× ÓL�« Ôb ýUMÔ¹ W ÓI Ó¼«d ÔL�« W
ÓK ÓŠ Úd Ó� WÓ¹«b Ð w� 

ÎöH Þ ÈdÓ½ ¨ÈdšÔ√ ÌW ÓN ł 

øÈdÔð U¹ ÔqO Ó−�« «c¼ Óu Ô¼ ULÓ� Æ W]O �U×�« t ð Ód ÚÝ
Ô√ w� Ó…UO Ó×�« 

]q Ó�

 ¢Òö Ó�¢ ÓW ÓL K
Ó� Ôq]³ ÓIÓ²Ó¹ ô ¨ t¹Ë Ó– s � ÓW 

ÓÞ Ód
ÚH ÔL�« ÓW]¹ =d Ô×�« ÓË Ób z« Òe�« 

Ó‰ô ]b�« ÔqH =D�« «c¼ Ôl ]� ÓuÓ²Ó¹ Íc
]�« X� Óu�« w� 

ÆUN=K Ó× Ó� w� ÚXÓ½U� ÚÊ ≈ ÓË vÒ² ÓŠ ¨ s¹b �«u�« b ÓŠ
Ó√ Ús � 

ÔtÓ�  uK×Ó¹ U� 
Óq ÓF ÚHÓ¹ ÚÊ
Ó√ ÓË Ìq ÐUI Ô� =Í

Ó√ ÓÊËœ Ì¡w Óý =q Ô� vK ÓŽ ÓqB×Ó¹ Ê
Ó√ Ôb¹dÔ¹ Ôt]½

ÓQ Ó� ÓË Ëb³Ó¹ 
ÔqO−�« «c¼ 

t ² ÓDÚK ÔÝ ÓWÓMO¼ Ó— t¹ Ób �«Ë s � 
Îö ŽUł ¨ÎU¾ D Ú� Ô� ÓÊU� ÚÊ ≈ ÓË t × �UB� ÓÊu½UI�« q̂ GÓ² Ú�Ó¹ UL

Ó� ¨ ÌŸ 
œ«— =Í
Ó√ ÓÊËœ 

Æ W]O ½u½UI�« ÈËUŽ ]b�U Ð Èdš
Ô√ Î… ]—Uð ÓË W 

ÓÞ Úd ̂A�U Ð Î… ]—Uð UL Ô¼UÒ¹ ≈ 
Î«œ =b ÓN Ô� 

° Ôs¹“«u ÓL�« tO� X
]KÓ² Úš« Ïd ÚB ÓŽ 

ÎöF � Ôt]½ ≈ 
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Section III — Writing in Arabic 

15 marks 
Attempt Questions 12 –13 
Allow about 1 hour for this section 

Answer each question in a SEPARATE writing booklet. Extra writing booklets are available. 

In your answers you will be assessed on how well you demonstrate: 

■ relevance of the treatment of ideas, information or opinions 

■ accuracy of vocabulary and sentence structures 

■ variety of vocabulary and sentence structures 

■ capacity to structure and sequence responses 

Marks 

6 

6 

9 

9 

Question 12 (6 marks) 

Answer ONE of the following questions. Write 100 –150 words in ARABIC. 

(a) 	 On the first day of your new job, an unexpected event occurred. Write a recount 
of the day. 

OR 

(b) 	 Recently you attended your friend’s wedding. The wedding was unusual. Write a 
recount of the event. 

Question 13 (9 marks) 

Answer ONE of the following questions. Write 100 –150 words in ARABIC. 

(a) 	 Your friend needs your help in a difficult situation. You chat with a relative on 
the internet and the advice you are given is not to get involved. Write the script 
of the conversation that has taken place between you and your relative. 

OR 

(b) 	 A sales representative comes to your house trying to sell you an item you don’t 
really need. Write the script of the conversation that takes place. 

End of paper 
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Centre Number 

Student Number 

2008 
H I G H E R  S C H O O L  C E R T I F I C A T E  

E X A M I N A T I O N  

Arabic Continuers 
Section II Part A Answer Booklet
 

Instructions 

• Answer Questions 9 –10 in this answer booklet 

• Write your Centre Number and Student Number at the top of this page 

310 



Section II — Reading and Responding 

Part A – 25 marks 
Attempt Questions 9 –10 

Read the texts on pages 10 –14 of the question paper, then answer the corresponding questions 
in ENGLISH in the spaces provided. 

Marks 

2

3

4 

Question 9 (9 marks) 

(a) 	 Describe Hala’s feelings in the first diary entry. 

 ...............................................................................................................................

 ...............................................................................................................................

 ...............................................................................................................................
 

(b) 	 In the diary entry 5/3/08, explain Hala’s comment ‘I am so confused’. 

 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................
 

(c) 	 How do you think Hala is likely to perform in her final examinations? Support 
your answer with reference to the text.

 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................
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Marks 

3

4

4 

Question 10 (16 marks) 

(a) Why are Layla, Amani and Youssef writing to Nabeel? 

 ...............................................................................................................................

 ............................................................................................................................... 

(b) How does Layla’s attitude towards her holidays change? 

 ...............................................................................................................................

 ...............................................................................................................................

 ...............................................................................................................................

 ...............................................................................................................................

 ............................................................................................................................... 

(c) Compare Layla’s and Amani’s feelings in regard to the decision to return to 
Sydney early.

 ...............................................................................................................................

 ...............................................................................................................................

 ...............................................................................................................................

 ...............................................................................................................................

 ............................................................................................................................... 

Question 10 continues on page 4 
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Marks 

5 

Question 10 (continued) 

(d) Youssef states: ‘U³ðU� XMÔ Ô Ó� W Ó ]   XOÔ MLÓ ð rÚ �’.Î  � u  E×K�« Ác¼ w� ] Ó Ó

How do the content and style of his email reflect this? Give examples to support 

your answer.


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................


 ...............................................................................................................................
 

End of Question 10 

– 4 – 

© Board of Studies NSW 2008 



2008 
H I G H E R  S C H O O L  C E R T I F I C A T E  

E X A M I N A T I O N  

Arabic Continuers 
( Section I — Listening and Responding)
 

Transcript 



Familiarisation Text 

ÆU¹U� U¹ U³Î ŠÓ d�Ú ∫w�UÝ 

¡«bGÚ Ú Ú ] Ó Î ¼√ÆÓ Ó �« wM�—Uý qCHÓ ð ¨w�UÝ U¹ ö Ú ∫U¹U� 

iÓ FÐË  Ó ÓK��« s� UM×�Ë = —_« l� UłUłœ VKD½ Ó�  ¹√— U� Æ—ËdÝ = Ô  ∫w�UÝÚ Ó Ó WD ] Ó 
Î
Ú Ó Ó “ Ô

Ó
Ó Ó
Î Ó Ô Ú Ó uÚ pÔ

Ú
Ó Ì Ô qJÐ 


øÈuÚK×�«
Ó

sÓ � öOK�Ë ÍuAL�« r×K�«] s  Î Ó D
Ú �  Èu  Ý  q�¬Ô Ó�  U½√  ¨w�UÝ  U¹  ô ∫U¹U� Î Ó Ó =  Ú Ó  Ú Ó � WF   Ó sÚ


ÆWDÓK��«
]

ø  Ú ¹ «c¼ q¼pOHJÓ
Ú Ó ËÓ ∫w�UÝ 

ÆUÎ ] Ó Ô
Î
Ò  Î  Ô  ]

Ó ] Ó Ó ∫U¹U�MOF� UOz«cž U�UE½ l³ð√ wM½≈ ¨w�UÝ U¹ WIOI×�« w� 

ø  ½“Ó Ë s� wBIMð Ê√ s¹b¹dð U�«džuKO� r�Ëp  Ó   Ú Ô Ú Ó Ô Î Ú Ó ∫w�UÝ 

ÆWÓ ] Ó ŠÓ ∫U¹U�Łö¦�« w�«u 

øUÎ  Ô Ó Ó Ó ]
Ó Ó  Ó Ú Ó Ú Ó Ó ∫w�UÝO�U� ÊuJOÝ «c¼ Ê√ s¹bI²Fð q¼Ë 
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Question 1 

ÆÃ«dÐ_«Ë X½√ Z�U½dÐ lL²�L�« Íe¹eŽ pO�≈Ú
Ó
Ó Ó
Ó
Ó Ó  Ó Ô Ó Ó 

∫bÝÓ
Ó_« ÃdÔ ÐÔ

 „  Ú Ó  ÆWOHÞUŽ q�UA� W Ó Ó  Ô Ë ‚U¼—û� Ÿu³Ý_« «c¼ ÷dF²²Ý p½≈ ÆWŠ«dK� U²�Ë cšdý√
Ó ]
 Ó  Ó

Ó −O²½ Êe×�« Ó   Ô Ô ] Ó Ó Ó Ó
Ó ]   Ó Ò

Î
Ó Ô

Æq  Ó  
=
Ó 
ÓKzUF�« œ«d�Ó�UAL�« Ác¼ q×Ð W  Ó √ 

Question 2 

   Ó Ó Ó   Ú
Ú  Ô  Ô  ] √  Æ‰UL� r�b�Ë –U²Ý√ ¨»u¹√ b¹d� ”—bL�« U½√ ¨u�√
»UOž V³Ý sŽ —U�H²Ýû� rJÐ qBðÓ Ó Ô  Ó Ó Ô

Ô
Ò
Ó Ó = Ô

Ó Ó

 Æd Ú
Ó_UÐ …—«œù« ÂöŽ≈ ÊËœ Ÿu³Ý√Ô … ] Ô  Ó�  Ó   Ó Ì

 bL� ‰UL� 

Æt  Ó Ó Ó Ô ŁR
= ¹ b� —d³L�« dOž »UOG�«Ë Î Ó Ó Ó Ô  ²−O²½ vKŽ d Ô Ó  ] Ó Ô Ô Ó Ô  Ó W³¹d� XðUÐ U½U× ²�ù«

 d�Ó Ž …—«œù« Ÿö Þ≈Ë X�Ë »d�Ó Ð  π∑±μμ¥ nðUN�«  vKŽ WÝ—bL�UÐ  ‰UB= ¡Ułd�«
_« vK Ó  Ó
=
 Ó Ì Ó  Ó Q   Ó  Ó Ó Ó  ðù« Ô ]

ÆÎ Ô ËÓ«dJý
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Question 3 

WŽU Ò Ó   Ó  qB²Ý WO�UÝ w²I¹b� Æp  Ó Ó Ô  Ì Ó  √ ¨vKO� u�√ ∫dOM Ô
��« bMŽ —UDL�« v�≈ Ô  Ó Ó Ó Ó Ó  ðbŽU�L� WłU×Ð U½
Ó Ó Ó �

 ÆXO³�« v�≈ UNK�Ë√ w� UN�U³I²Ý« w� Êu�Ó Ú Ó  L�« s�Ë ¡U�� WÝ  ��«Ó  Ó  Ó   Ú Ó √ Ê√ ÷ËdH Ó Ó  Ó Î Ó œU Ò

ø Ó  Ô  Ô Ó
Î
Ó ∫vKOÓ�p�– w� WKJAL�« U�Ë UM�Š 

dÓ CŠ√ Ê√ wM� VKÞË ¡U�L�« «c¼ UNO� ·  QÝ w²�«  KH×�« d¹b� wÐ qB] Ó � ∫dOM�ÔÓ Ó Ó Ò  Ó
Ó Ó
Ó Ó Ô eŽÓ Ó

] WÓ Ó Ô Ô
Ó ð√ bIÓ


W�dH�« Ó Ó ] iFÓ   Ì Ó Ð bŽu Ó
Ó
Æ  Ó  l� s¹—UL²�« Ó Ð ¡«dłù WŽU�   L�« q³�Ó

ø Ó Ó 
Ô Ó Ô  Ô Ó Ó Ó ∫vKOÓ�„bŽUÝ√ Ê√ wMMJL¹ nO�Ë 

Æ  Ó   √Ó Ë vKOÓ� wK³I²Ý«Ë —UDL�« v�≈ w³¼ Ú Î Ó ∫dOM�XO³�« v�≈ UNOK �Ë Ó  Ó Ú Ó Ó  Ó –≈ ¨¡Uł— Ô

Ô Ó ] °UN�dŽ √ ô wMMJ�ËÓ ∫vKO� 

…Î —U Ò Ó f³Kð ÆnK ��« v�≈ fK�_« U¼dFý j  Ó r�−�« WKO×½Ë W�UI�« WK¹uÞ UN½≈Ó E½ Ô  Ó Ó  Ó
Ó Ó

Ó Ó
Ô Ðdð Æ  

Ô Ó Ó Ó  Ó
Ô Ó Ó ]  ∫dOM�Ô


ÆUN   Ô Ó Ó Ó
Î Ó Ô  Ó Ó ] √ ULÐ sJ�Ë —UNM�« w� ¡«œuÝ WO�Lý
½ËbÐ ÊuJ²�� öO� qB²Ý UN½Ó  Ú  Ó  ] Ó Ó

Î ]  Ú Ó
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Question 4 

  Ô Ó Ô  Ó Ó 


Æ Ì ]  Ô
Ó Ì Ó   Ó Ó  Ô √

Ô 


øw²�Ó ½¬ „ bÓ ŽUÝ√ Ê√ wMMJL¹Ô nO� ∫lzU³�« 

WOzUÐdN� W�öŠ W�¬ ¡«dý b¹— ∫W�½ü« 

…Ï b¹bł WF�œ UMKB²Ý ULÐ— ¨ Ó Ó Ó  OzUÐdNJ�« W Ó   ô¬ lOLł ¨w² �½¬ nÝ¬ ∫l Ó Ó
Ï Ó Ô
Ô  Ó Ó ] Ô bH½ W]  Ô

Ó  �ö×�« Ô Ó Ó  Ï  zU³�« 

ÆÂ  Ÿu³Ý_«œUI�« Ó
Ô

dN þ bFÓ    KHŠ w� wš_ UN�b�_ Êü« …bŠ«Ë ¡«dý b¹—√ °w E×� U¹ ∫W� Ô Ó Ð ÁœöO� bOŽ WÓ Ó
Ó  Ó = Ó

Ô  Ó Î Ó  Ó  Ô
Ô Ò
Ó  ½ü« 

lÐ— bFÐ —  OÝ ’U³�« Ê_ Ó WŽd�Ð t¹d²ý√Ó VÝUM� dš¬ ¡wý p¹b� q¼ ÆÂuO�« Ú Ô Ó Ó Ô œUGÔ Ó Ó ]  Ì Ó Ô  Ó Ï  Ô Ó Ï Ó
Ó Ó Ó Ó Ó

øWŽUÝÌ Ó


Ú Î Î Ó Ï Ó Ó
«c¼ q¼  Æ Ó Ó   Ô  U¦¹bŠ  wM²K�Ë WO½Ëd²J�≈ »UF�√ ÍÓ � ∫l Ó «—ôËœ ÊuF³Ý …bŠ«u�« dFÝ Ó Ú Ó Ó ]    Ï ] b zU³�« 

øÔ Ô  ¹Ôt³ÝUM

ÆjÓ Ó Î Ó Ó l�œ Íu½√ XM� ¨…dzUŠ U½√ ∫W� I� «—ôËœ sO�Lš Ó Ó
Ó
Ô Ô Ï 

Ó ½ü« 

U½U Ò Ó √ WO½Ëd²J�≈ WÓ �  vKŽ  sOKB×ð  »UF�_« Ác¼  ÈbŠ  X¹d²ý«  «–≈
Î Ô  Ô Ó    Ú 

ÆÈdš√Ô W³ÝUMLÐ WÎ ]  Ó Ó = Ó Ô

−�  Èdš Ì ]  Ì ³F Ó Ó Ó Ó ≈ Ó Ó  ∫lzU³�«
 

Ì Ó Ó Ô  ¹b¼ UNMO�bIð 

ÆW¹bN�« nOKGÓ  ¹ U� wF� vI³¹ s� tMJ�Ë ¨dG� Ï Ž t½≈ ∫W�½ü«]  Ó  ²� wMOHJÓ Ó Ó
Ó ]  Ó Ì Ô ÷d Ó Ô ]  

ÆÎ −� U¹«bN�« nKG½ UM½√ ’U��«  F�« sL{ s  Ë ∫l U½U Ò Ó Ó Ô
= Ó Ô ] Ó Ò ÷d Ó   Ú � Ó zU³�« 

ÆUN¹dÓ ýÚ QÓ Ý ¨rOEŽ «c¼ ½ü«² Ó Ï Ó ∫W� 
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Question 5 

ø Ó  Î √Ó ∫q Ó √
ÓpÐ U� ÆÍœUý ö¼ �

ÆW Ó  Ó Ó Ó Ô Ô Ó Ó Ó Ó Ó Ó Ô Ì  Ô Ô
Ó ∫ÍœUýŠ—U³�« sOL ÝU¹ vKŽ w²ÐuDš X��� bI� ¨qL²×¹ ô oOCÐ dFý√ 

øUNÓ d³š√ U�bMŽ Ó�U� «–U�Ë °Èdš√ …d� øsOL ÝU¹ X�dð ø«–U� ∫q�Óð Ú Ó
Ó
Ó Ú  XÚ Ó

Ô Î ] Ó Ó Ó Ó Ó Ó √ 

dOÔ ž  UN½QÐ d Ô √  U½√Ë  UM²�öŽ   cM
Ô �  Æ‰UL²Šù« lOD²Ý√ b Ô √  r Ú J×{Ó ] Ó  Ô Fý

Ó Ó
Ó  Ó  ¡bÐ Ô  Ú  Ô Ó Ú

Ó Ú ŽÓ Ó�  °°  X Ó  Ó ∫ÍœUý 

X� u�« ¡UC�Ë ÃËd Ô u¼ tÐ d = Ó Ô ^ Ô Ë Æ‚öÞù« vKŽ qF�√ ULÐË wÐ WL²N�Ó Ô Ó Ó Ô ��« Ó Ô   Ô JHð U� q�Ó  Ó
Ô
Ó
Ó  Ó Ì ] Ó Ô


ÆUN   Ó Ó Ó
zU�b�√ l� 

pÓ �öŠ√ …U²�  UN½√  UNÐ  wM²�dŽ  ULMOŠ  w� qIð Ó Ó Ó Ô Ó Ó
Ó Ó ∫q�√ Ó Ô Ó ] Ó  Ó Ú ] Ó Ó

Ú Ô Ó rÚ �√  øÂöJ�«  «c¼ ‰uIð X½√√ Ó
Ó

øWÔ O] �U¦ L�«

 ô w
Ó
N� ÆbFÐ WDK�²L�«Ë …bOMF�«  UN²OB�ý XHA²�≈ b� s�√ r�  Æp�– b I²Ž≈ Ó Ó Ó

=
Ó Ó Ô Ó Ó Ó Ó Ó ]  Ó Ô Ó Ó

Ú
 Ó Ú

Ô Ó Ó  Ô Ó Ó Ú  ∫ÍœUý
 

ÆULOJŠ ÊU� ULN� —U³²Žù« sOFÐ w¹√— cšQÓ Ó  �« q] Ó Ó Ó

Î
Ó Ó Ó   Ó 

Ú
Ó
Ô Ú ð ôË wðUŠ«d²Ú Ô ³I²ð 

øp�– nOÓ �Ó ËÓ ∫q�Ó √
Ó

 Æ Ì  Ô Ó Ì  Ú  ^ Ô Ó Ÿu{u� Í
Ó
Ó � q�UF²ð UN½≈W¹d�ÝË ¡«eN²ÝUÐ UM B�¹ Ì Ó = √ l Ó
Ô
Ó Ó Ó ]  ∫ÍœUý
 

ÆpÓ� ‰u�Ó Ô dŽ√ ô ÆÍœUý U¹ wM²½eŠ√Ó Ë wMðQÚ łU� bI� ∫q�Ó
Ô √ «–U� ·  Ó Ó Ú Ó Ó Ó Ó Ó Ó Ó √ 
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Question 6 

^  Ó Ó ÕU³�Æ»öD�« wzU� b�√ dO ��« Ô Ó

Ÿu{uL�« «c¼ Õd Ó Î ÐuF� b  Ó ]  Ë ÆÂuO�« rJO�≈ Àb×ð√ Ê√ d¹bL�« wM� ÓK Ó Ó � Ó  Þ w� WÓ Ô Ô ł√ wMMJ� Ó Ó
Ú Ô Ó  Ó ] Ó

Ó Ú Ó Ô Ô Ò VÓ Þ bI
Ó

ÆÎ Ó
Ô
Ô Ô ]
Ó_UFOLł rJOMF¹ ô t½

 ¨¡ Ó Ú
Ó
 Ì wÒ Ý s� dOG²ð —u�_« 

Ó
Ó Ó Î
Ó Ó Ó
Î
 Ó
Î ]  Ó Ó ^ Ô

Ó
Ó
Ô Ó  Ô Ô
uÝ√  v�≈  ¡ Ó Ú  Ô ] Ó Ó Ô

Ô  √bÐ …Q−�Ë  ÆU�«dý≈Ë W¹uOŠ Z{√  ÂuO�«  rJK¦� XM�
 

Ó̀ ³BO� w½u� d] Ó � s� t�dŽ√ r� Ì �Ð dFý√ XŠÔ = Ó Ô Ó √ √bÐ U¼bMŽ
 Ô  Ó Ó OGð Æq³Ó Ú  Ô
Ú  Ó Ó ‰uL Ô  Ô Ô

Ó
Ô — Æ «—b�L�« vÞUFð

Ó
Ô
Ú
Ó Ó Ó Ú 

ÆÂuL ̂   Ó Ó Ó Ý wM½√ U�u¹ bI²Ž√ s�√ r� Æn¹d ��« ‚«—ËQ� U²¼UÐ U³ŠUý��« Ác¼ vÞUFð√ ·u Ó ]
Ó Î
Ú Ó Ô  Ó

Ó Ô Ó Ó Ó  Ó Ó Î  Î 

 wðU�öŽË  UN�  À  Ó Ó Ô
Ó r�  UNO� X�uHð  UL ] Ý«—œ  ÆwzU� b�√ lOLł  w½ −¼Ó
Ó Ó

Ó Ô d²�√  bŽ√ Ú
Ó Ô ] Ó Ó Ó�UÞ  w²�«  w² Ó   Ó Ô Ó dÓ Ó

Æ = ] Ó ] Ó  Ú  Ó Ó  Ô  Ó Ó ÓnB�« w� eO�d²�« w²ŽUD²Ý« ÂbF� iH�Mð XŠ«— 

b] { W�dFL�« ÷uš√Ë wð«c� rI²½√ Ê√ Ú ] Ó Ó
Ï  Ó Ï  Ï Ó ]

Ó
Ô Ô
Ó
Ô √bÐ
 Ó Ó Ó Ó Ó

Ó  Ó  Ó
Ó Ú Ó Ô —d� UNMOŠ ÆqýU�Ë lzU{ ¨bOŠË wM½√ dFý√ 

Ú
Ó Ó

ÆW Ó A�« KF�«FOM ] W ]  Á c¼

 «u¦ Ó Ó Ú √ œbý√Ë rJO�  qÝuð√ «c� Æ Ô KIŽ q Ô Ó Ó Ó  Ô = Ó Ô  √ U¹ «— b�L�« Ê≈
×³ð ÊÓ = Ó
Ô
Ó
Ô Ó ≈ Ô ] Ó

Ó  tÓ Ó
^ AðË ÊU�½ù« d�bð wzU� b�Ó Ó = Ô ] 


W Ð  ]  dLð ôË ÆsOÒ  Ò 
Ó
Ó � UNMŽ «uŁb×ð ÆW�ü« Ác¼ sŽ «bOFÐ rJK�UAL� ‰uKŠ sŽÓ
Ó d−²�UÐ «Ë Ò Ô Ó Ó OzUBš√ l Ó Ú Ó ] Ó Ó   Ó

Î
Ó
Ô   Ó  Ì Ô

ÆUN  Ô —d� w²�«]Ð Ú  Ó
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Question 7 

Æ Î OÝ Íd²ý√ Ê√ — d� bI� ÆÆÆ—UÝ d³š Íb� ¨r¹d� ∫vM�…—UÒ Ó Ó  Ó
Ó Ú Ó Ô ] Ó Ó

Ó
y Ï Ó ] Ó

Ó Ó Ô

WK JALÐ ‰uGA� tKL�QÐ r�UF�« Ê√ sOŠ w� Î OÝ s¹dÓ Ó —UÝ d³ Ó √ ø«–U� ∫r¹d Ó
 Ô 
Ï
Ó   Ó
Ó  Ó
Ó ] Ó  …—UÒ Ó Ó ²Að ø y Ï š «c¼

Ó �
 

ø Ò  ]   Ó Ô  Ú  _« s� fO�√ ÆÍ—«d×�« ”U³²Šù«
ÂUF�« qIM�« qzUÝË Â«b�²Ý« qC�Ó Ó  Ó
Ó Ó Ò Ó   


 v�  Ó Ó √ Ê√ w� nO� ÆUN�ULý w� qLŽ√Ë w½bOÝ »dž w� sJÝ√ wM½  � ∫vM Ô
≈ V¼–Ó Ó Ó Ó  Ó Ô Ó
Ó  Ó Ô Ô Ó ] ≈ ¨r¹d Ó � 

s OÓ Ó ��Ë U½Q� øp�– Ó  X½√ lODÓ Ó ¼ ø…—UOÝ Íb� sJ¹ r� Ê≈ Âu¹ q� wKLŽÚ ²M Ó  Ó
Ó Ó  qF� Ó

Ó
Ô ²�ð q Ó Ò Ó ] Ó

Ó Ô
Ó Ú
Ó Ú  Ì

] Ô
Ó Ó


ÆV½ ]  dÔ FAð Êü« X½√ U¼ËÓ …—UOÝÓ ÍÓ d²ý_ œuI^ dÔ šœ√ XM� sO²K�U�
c�UÐ w½  Ô Ó
Ó Î Ò  Ó Ó Ó M�«  ]

Ó
Ô Ô Ó Ó 

 UL] Ô   Ó   ] Ó   Ó �
Ó  «—«d� rÓ�UF�« ¡U×½√Ó W�U� w� ”UM�« cÔ  ] Ó ∫r¹d�Ó
Ð— V�«uF�UÐ dOJH²�« ÊËœ „—«dI Ó Ó   ] Ô Ò �²¹ 


Æs×Ú ½ UNJK ²LÓ ½ w²�«
] Ô «—UO��« r N¹ bÓ � Ó

Ó
Ó Ô Ó Ó Ó fO� 

øV Ó uJ�« «c¼ vKŽ wð—UOÝ d= Ó Ô Ý b×�« «c¼ v�≈√� Ú Ó Ó Ó Ò Ó Ô ŁR² Ó = Ó 
Ó ∫vM�Ô

¼  ø«dšR Ô  Ô  Ô ²ý«  Íc�«  ¡«u Ó  = Ó Ô 
] Ó Ó Ó  Ô Ó Ò Ó Ó

Ó �
q Ó Î ] � „b�«Ë Á«dÓ Ú ] N�« nOJLÐ  dJ�  q¼ ÆjIÓ � pð—UOÝ fO� ∫r¹d Ó

 øt   Ó Ó Ô Ó Ó  ] Ó Ó³�«uŽ sŽ tF� XŁb×ð 

ÎÒ Ô Ú
Ô Ó Ó Þd Ô Ó Ó Ó

Ó Ó Ó Ó ÔÆöL� sJð ô Ær�UF�« «c¼ w]
 ý X�� X½√ °r¹d� U¹ vH� ¨vH� ∫vM� 

Ô Ó W�Uš lOL−�« h�ð W�Q� Ó � ÆöL� UŽu{u� fO� Í—«d Ó Ô  ∫r¹d�
s×½ Î ] Ó Ó ^ Ô Ó
Ô Ó L�U Ó ÎÒ Ô

Î
Ó Ó
Ó ^ ×�« ”U³²Šù« Ó

nÓ �√  Ê√  lODÓ Ó Î OB�ý  U½Q�  ÆW¹b−Ð ·dB²½ Ê√  UMOKŽ V−¹  Æ»U³ A�« Ó Ó Ô ²Ý√  ô  UÒ  Ó
Ó Ó Ì ] = Ó   Ó ] Ó Ó Ú

Ó Ó Ó Ô  Ó ]


ÆÀ Ô Ó Ó √
Ó UłÎ = Ó Ô
b×¹ U� ÂU� dH²� 

– 8 –
 



Question 8 

ø  Ô Ó Ó Î Ó  ≈ X Ô Ó Ú Ó Ó� ÆwÐd Ô  ł«Ë w�UFð ¨w²³O³Š vLK Ý ∫ Ò −�«p�UŠ nO� Æ«dO¦� pO�  Ô I²ý« bI � w�K Ú Ó
Ó Ó Ó Ó Ó b Ó

Ì  Ó°dO�Ð ∫vLKÝ

 U¼UIOÝu�  s   ^   KÝ—√  w²�«  w½Už_«  vK Ó Ó  Ô Jý√ ∫b−�«� ržd�UÐ  Æw�  UN²Ú Ó
Ó ] Ó Ž  wðe¹eŽ  U¹ „d Ô Ó Ò Ó


Æ   ] Ó  Ó    Ú   Ô Ó Ó Ú Ó Ó Ó  Ò
pM� UN½_ UNO�≈ ŸUL²ÝùUÐ XF²L²Ý« bI� ÆW³šUB�« 

Æ Ó    ÝUMLÐ W¹b¼ ¡«dý vKŽ d�√ w²�« w�√ s� UN½≈ qÐ ∫vLKÝ„œöO� bOŽ W³ Ó Ô  Ì ]  Ó   Ó Ú ] Ó
Ó ]

Ò
Ô  ]  Ó Ó

Ó  ]
Ô
Ô
Ô Ó
Ó Ò ÓÆUNOÓKŽ p�√ dJýQÝ ∫b−�« 

°wM ^ Ô Ó ∫vLKÝÓLN¹ ô 

Í Ò Ô Ó Ó
ÓK Ó    Ó Ì ] Ó Ì

Ó�UÝ Ú  d¦�√Ó Ó� Ô dð bI� ¨…dJ� vKŽ ∫b−�«œdð r�Ë Íu ��« pHðU¼ vKŽ WOðu� W — s� Ó p X� Ó Ó Ó
Ó
Ó  Ó Ó

 ÆÆUNOÓKŽÓ

Ær¼√ …dO¦� ¡UOýÓ Ð W�uGA� XM� bIÓ� ∫vLKÝÒ Ó
Ó Ì Ó Ì Q  Î Ó Ô

Ô Ó Ó

Ê] √Ó Ó Ò
Ó_« Ác¼ …bOFÝ dOž s¹b³ð p½QÓ Ð p¹ Ó   Ô  Ó Ó Ó� ÆvLK Ý U¹ ”Q

Ú Ð ô ∫b−�«Ë ¨ÂU¹   Ì Ó Ó Ó Ó Ó  ]   b�«Ë s � X�dŽ bI Ó Ó Ò Ó


øVÓ ] Ó  √ Ê   Ô Ó  Ó Ó ] Ó Ó Ó Ô
Ó  Ó Ó Ó Ô Ó  Ó ^ Ó Ó
³��« ·dŽÓ √Ó sJLL�« s� q¼ Æ dOGð b� ULN� p²K�UF�Ë pðU�dBð 

ÆŸu{uL�« «c¼ w� Àb×²�« V  Ô ∫vLKÝÓ Ó ^ ] ^ Š√ ô ¨ô Ó

Ó  Ú�ù«  ôË  W¹u½U¦�« p²Ý«—œ ‰UL�≈ s¹uMÓ  ] Ó Ð  ÊôuI¹  ULN½≈  ¨wðe¹eŽ  U¹ ∫b−�«‚U×²  Ó ]  Ó
Ò   Ó 

Ó  Ó ð  ô  p½Q  Ó Ô ]  Ó Ò Ó

ø   Ó Ó K
Ô Š «c¼ sJÔ ¹ rÓ Ó pðUOŠ r Ô Ú Ó �√ ÆWF �U−�UÐ 

Æœ ] Ó Ó Ó Ó ∫vLKÝb³ð b� Êü«Ë ¨ÊU� Ó

p Àb×Ó  ] Ó Ó  Ó Ô dG²Ý Óø  Ó� ÔÔ Ô ¹ Íc�« U� Æ] öFÎ �  dOGð bÓ IÓ� Æp�ö�Ó »  Ó √Ó ∫bÒ −�« 

Ó Ó Ó Ó Ô � Ê  ÓÆrNHð sK�Ó pÓ� XK Ô Ú ≈ ∫vLKÝ

 UM  Ò Ó Ì  Ô Ì KOÝË ÍQÐ pðbŽU�� b¹—√ U½√ ÆWO�UG�« wðbOHŠ U¹ QD š vKŽ X½√ ∫ Ò ÓÐ UO¼ ÆWMJL� WÓ Ó =
Ó  Ó Ó Ó Ô Ô

Ô Ó  Ó Ó Ó Ó 
Ó b−�«
 

Æ—u�_« q� w� UF Ó Ô ] Ó Ó Ó Ó Ô Ó  Ì Ó  Ó Ó

Ô = Ô Î � Àb×²½Ë …uNI�« »dA½ ¨Δ œU¼ ÊUJ� v�≈ V¼c½ 
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